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1. q1ftK dd znf*q, gw *olEroffi oil-gqf,rilq qb=i-dq RTeTr qrsrcsil-q, q?t$

firogr"n/n-d-$-d omtcq ftroprfl- / wtt qrfuo-r FJqff,s, fiq-oreffqr

fr".H. ffiq qTt-q qTql;T mT ltlqqur TflT 3lwiRd {|"Pr
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aal-fr at qqT ffi, gftq,
Wrftffir, fi-amqa eil"R

250 qrt 1,20,000

2. \ry'filfr ihq{€ fffil tQ-q glq

qld 4'x3'
5 qIT 20.000

3. ff{ dd ftttET sg 8"x4" 8 qII 32,000

4. q-crq 6ff, erdrqrft d* q,t

!F[r{q 4'x 4'. 6"

1 Trr 17,000

€htf 1,89,000
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+dffir ffi tI fu t*,ra-.. GrhRffi alqr wq srRrd e't r

+ft{rdT d qrs qld o-r *q =rr*s *qr sTrqTq-f, d r
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